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In [7]: from keras.models import Sequential
...: model = Sequential()
: from keras.layers import Dense, Activation

..: model.add(Dense(units=64, input_dim=len(x_train[@])))
.. model.add(Activation('relu'))
: model.add(Dense(units=max(set(y_train)) - min(set(y_train)) + 1))

) ...: model.add(Activation( 'softmax"'))

[ ...: model.compile(loss="sparse_categorical_crossentropy’,
: optimizer="'sgd’,

i caat metrics=["'accuracy'])

.: model.fit(x_train, y_train, epochs=260)
: score=model.evaluate(x_test, y_test, batch_size=1)
...: print(score)
‘ ...: model.predict(x_test)
...: model.summary()
Epoch 1/2@e

3/3 === =—=—=—=-=—===—=—=—=—==-==—=—========= - @s SmS/Ste - 1055: 1.8583 - accuracy:
| P y

3/3 [:::::::===========:=:=========] - @s es/step - loss: 1.0530 - accuracy:

3/3 [=======:::::::::::::::::::::::] - @s es/step - loss: 1.0485 - accuracy:

10.3200
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At

a = [200, 400, 300] 216.0
for i in a: - 432.0
print (i * 1.08) A
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from keras.models import Sequentia

: model = Sequential()
: from keras.layers import Dense, Ac

: model.add(Dense(units=64, input _di
: model.add(Activation('relu'))

.. model.add(Dense(units=max(set(y_tr
: model.add(Activation( 'softmax'))
: model.compile(loss="sparse categor

optimizer="sgd"',
metrics=["accuracy']

: model.fit(x_train, y train, epochs
: score=model.evaluate(x_test, y tes
.. print(score)
: model.predict(x_test)
: model.summary()

)och 1/286
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STV POEMAEBEZIZIET B/26DD super 2 vars RENH D,

FKIXE
« SUTIIRAOVUT MG, BERTIOUS LABIEMKDIRE

« AT D1V MEMOKEEZIFES., init YPself ODLDRF—T—R
ZFERHUTCOTRAZFHATED,




trinket {

Palebuse Lok

» Trinket (A>T A >D Python, HTML FDOFZFYA b
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e trinket (& Python, HTML IREDT OV S LEZEZTRITCTED
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* https://trinket.io/python/0fd59392c8
DELDIC, BDTOTSAICITED URLHEIDH TSNS

# |/ My Trinkets / si1-1 o — \\J;
N
<17, STOP KX~
= ) trinke v | ? Modules

< > mainpy + 12 B Result
1 age =18
2+ if age <= 11:
ppppp (500)

se:
print(18ee)
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@ trinket MIRDNR—=% < 2
https://trinket.io/python/6c652f1c2f

@ ETHaRN, ROKXD(CRRSNDZ =R

A+ £1T. STOPH &~
main.py + L [ Result

X el Powered by “Dtrinket
* if (x > 208): .
print("big") big
v else: 15
print("small")
s =0
- for i in [1, 2, 3, 4, 5]:
s =5 + i
print(s)
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3 trinket MIRDNR—>% < 2
https://trinket.io/python/94d1563844

@ E1THaRN, ROKXD(CRRSNDZ =R

<> +4 B
1 import turtle L J— \S =
2 import random / A N
3
4 #BallYSADEHR /[ I N 7] /
5~ class Ball(turtle.Turtle):
[ def _init_ (self):
7 super().__init_ ()
8 elf.shape( e"
9 elf.color(
10 elf .dx dint(-3, 3)
11 self.dy dint(-3, 3)
12
13 # R—LOEBLEETORGEY ZEET LAY Y K
14~ def move(self): A\ N
15 self.goto(self.xcor() + self.dx, self.ycor() + self.dy)
16 7 l N } [/ / ’\
17 # R— AN ETFORIHE---BE. FAERE
18~ if self.ycor() >= 200 or self.ycor() <= -200:
19 self.dy *= -1 1
20 Fl — \]|/ >
21 # K= AEEORIZS---1B8, FAERE [m} -_ -_
22+ if self.xcor() »= 208 or self.xcor() <= -200: — \ \
23 self.dx *= -1 __I:
24
25 # WEOR—LOA VASAEEBRLYAFZEF

26 balls = [Ball() for _ in range(4p]

RAT 5.

28 # BRL—TTEA—LEWHNT
29~ while True:

E[-Rd for ball in balls:

31 ball.move()
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@D trinket DX DX —T % B <
https://trinket.io/python/2b804abi9a

Q@ FITHERD, RDLHICKREINDE Z & %R
import datetime

now = datetime.datetime.now()
print(now)

= () » v 2?2 < ~

< » main.py + X [

import datetime

2024-09-25 11:18:06.784000
now = datetime.datetime.now()

1

2

i print(now) }EEOD EI H:—IJ“:
22
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@ trinket DX DR — % B <
https://trinket.io/python/597e5771ff

@ RITRERD, ROLDICKRTEIND T & ZMHER

import math
print(math.sqrt(7))

)ﬂ-

< > main 2

1 import math Powered b rinket
2 print(math.sqrt(7))
3 2.64575131106

23
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® trinket DX DR — % B <
https://trinket.io/python/4e3559{879

® EITHERD, RDOLHICKREIND T & ZHER
import math
print(3 * 3 * math.pi)

> » v

main.py + L [ Result

imE)ort math | Powered b rinket
print(3 * 3 * math.pi) 28. 2743338823

24
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—ABED2BDOESH, 46T, ZOROAENG60 2.
BEhE=E, miEE (1/2) X 4 X 6 X sin(60)

@ trinket DX D ~_X— % B <
https://trinket.io/python/bdcce27488

EITRRD, ROLDICTKRIND Z & 2 HER

import math
print((1/2) * 4 * 6 * math.sin(60 * math.pi / 180))

= ) » v 2

< > mainpy +2 B Result

1 import math — i
2 print((1/2) * 4 * 6 * math.sin(60 * math.pi / 180)) 10. 3923048454 et
4
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d>Ea—9%FE>T M1+ 31 ZABLTHDIEESKRS
TL&LDODM?

« 1> E1—41(4& 10.3333333333333333 | RREEERR
- UL, [BIRICHELS ] BEZRIRIT S EETERL

e DED, 1 + 3] OEEAREZEHE TER

A2 E1—AINKRRT DERICFNESRREDNZTENTNS
(FBEICIRFADNHD D) LEEL TIIZSN.
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1/3,1/6,1/9 Z51E& -

D trinket DX DX —T % B <
https://trinket.io/python/8d555705¢1

@ EITHRRD, ROLDICKRIND T & ZMHER

= () » v 2

<> mant +& @ Result
print(1/3) Powered by ~ Dtrink
(1)) 0. 333333333333

0. 16666666666/
0. 111111111111

sTHEEREN DD 35
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0.3333333333333 D 3 =it 8 -

@ trinket DX D _X—T % B <
https://trinket.io/python/8a180f7d80

@ EITHRRD, ROLDICKRIND T & ZMHER

= () » v 2

< > mainpy + L [ R
1 print(0.3333333333333 * 3)
) Powered by ¢ )t
3 1.0
STBEREND D
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Python J0O00 S LARAK {

Palebuse Lok

x = 100 « 22TJ)LT, EITHEE. ¥
if (x > 20): IDEICEDTEURTL).
print(*big") « ZRELHRIR) W T —>ZFI
else: IBET. ILETESRS
print(“small”) (ChR NI EEZ BN T E B.
s=0
foriin[1, 2, 3, 4, 5]:
S=S+I|
print(s)
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Java JO0 S LARBAK {

Palebuse Lok

public class Main {
public static void main(String[] args) throws Exception {

int x = 100; _ _
= - =

System.out.printf("big¥n"); _CEE pgn e iva S
} else { L

System.out.printf("small¥n”);  |* Windows. Linux. €U
} Android77 7 URRE. Eid
ints = 0; DIRIBTEHACY—XO—
for(inti=1;i<=5;i++) { N CEME

S=s+i; « ZDOLKDIZ, Java (THIR
) NS, LERI7T
System.out.printf("%d¥n", s); Tg—>3 /ﬁﬁ%ﬁ(c_ EI D
}
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C TOISLRRK .

1:#inclu<.je <s.tdio.h> c CECH+H IS EL—AD (e 2l
it main(void MEREE RAIRS| 728
INt x, s, I; (:ﬁa_c%
M DV R AT O
if (x > 20) { EATNS
printf("big¥n");
} else { « Fa1—>T(CXDEEL
printf("small¥n"); _C_é% SERTOS =
\ 2O T A =N XER
s =0 DT7TVT—23 2RFIC
for(i=1;i <=5;i++) { HY D
S=S+1

}
printf("%d¥n", s);
return;



IS LARK

R

X <- 100

if (x > 20) {
print("big")

} else {

print("small")

}

s <-0

for (iin c(1,2,3,4,5)) {
S <-S+ i

}

print(s)

» RIFT—FIE(CHHME L2

N> RNEEE
« T—HIEMRICHEET D

.« RIGEEMET T — S AT
DHBE IR
« F—HDIRYLOET >
D13 E ONEEE B F (4T
S Tk

Draduse 4o
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Octave -

x =100

If (x> 20)
printf("big¥n")

else
printf("small¥n")

endif

s=0

fori=[12345]
S=S+Ii

endfor

printf("%d", s)

IS LARK

5.

Palebuse Lok
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JavaScript

process.stdin.resume();

process.stdin.setEncoding('utf8’);

var util = require('util’);

var x = 100;

if (x > 20) {
process.stdout.write('big¥n’);

} else {
process.stdout.write('small¥n’)

}

vars = 0;

for(vari=1;i <= 5; i++) {
S=5S+1

}

process.stdout.write(util.format('%d¥n’, s));

IS LARK

5.

Palebuse Lok

« (2SS UT A IR

DT IR—ZDERKIC
9 D

ThEE, 1—YH—&

DY T IV A LTS5,

E)JE"J‘TCI:H T ANVDER
RNEIRE

T&IL LV \IEZED OS TH
M— bhE=NTLB
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Scheme J O ARK

(define (decide x)
(cond
((> x 20) "big")
(else "small")))
(define (sum n)
(cond
(=n0)0)
(else (+ (sum (- n 1)) n))))
(begin
(print (decide 100))
(print (sum 5)))

Palebuse Lok
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 JO0SEZJ0BARBESCEBRMB~EEL L\ &
HEE

« —DDEEBTEMZBE(CDIFTDRZET, MOSENADEG
BARAL—XITHED

REIOVS=Z2VEERIZ<EABHIDN ?
» BIXB = —X VAN

o [LERIRRIRICIE S BED (Python, Java, JavaScript I8 E) H
SN, 1FEDMEE TKDENIRHEEZIRH T DIEDE

- BROBEEPFUIEVWCLICRUTERZENC EHLEE.
EBHOEEBZEVNDITDZLEHD.
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=

-
[200, 400, 300]
for i in a: $ < > mainpy + 2 L ;ggeged by “Dtrinket
rint (i * 1.08 1 - [200, 400, 300] '
P ( ) 2~ for i in a: 440.0
3 print(i * 1.1) 330.0

Python 7R 5 LD o
Y—X3d—F 74 TDPython 707 F L
E1T (trinketZz{ER)

x =100 public class Main { #include <stdio.h>
if (x > 20): public static void main(String[] args) throws Exception int main(void){
print("big") { intx s, i
else: int x = 100; x = 100;
print("small") if (x > 20) { if (x > 20) {
s=0 System.out.printf("big¥n"); printf("big¥n");
foriin[1, 2, 3,4,5]: } else { } else {
S=s+i System.out.printf("small¥n"); printf("small¥n");
print(s) }
ints =0; s=0;
for(inti=1;i<=5;i++){ for(i=1,i<=5;i++
Python 5:5+i; S(=S+i; ){
} }
System.out.printf("%d¥n", s); printf("%d¥n", s);
return;
} }
Java C

A,
7D§§§i*=§ 51

/= AR
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@ IT BilsD eI HETE B

JO0o=>0%7@UT, FiUWVLALE, FrULWERE, 1E
2B ENEIRTEET,

JO0S =078 U MR ROFIRDIEAFE (L. FIREARREE
HORENBENOM L (CRIIBERT,
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